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General Instructions :
(i)  All questions are compulsory.

(ii) Question numbers 1 — 10 are of 1 mark each. The answers to these questions should
not exceed 20 words each. ‘

(iii) Question numbers 11 — 20 are of 2 marks each. The answers to these questions
should not exceed 40 words each.

(iv) Question numbers 21 — 30 are of 4 marks each. The answers to these questions
should not exceed 100 words each.

(v) Question numbers 31 to 35 are of 6 marks each. The answers to these questions
should not exceed 150 words.

(vi) Question number 30 is based on Map. Write the answer in your answer book.

1. e T s % ue & ‘o/11” § Fa S ¥ 2 ' 1
What is meant by ‘9/11” in the context of U.S.A. ?

2. Fefefed a7 = W& m%gw: fofEm
e (ASEAN) ¥ furg € 3ieor O et Tt &1 S | 1
Correct the following statement and rewrite :
ASEAN stands for ‘Association of South East African Nations’.

3. TgE U W g oReg & e o e e o wem A €2

How many Permanent Members and how many Non-permanent Members does the
U.N. Security Council have ?

Y™
-
(S0
]
b

4, GwT W W AIE E? 1

What is meant by ‘Security’ ?

5. e s g T man frueg fegie w2 1
What is the “Two Nation Theory’ advanced by the Musiim League ?

6. HUT QRS TP & TITH T FT TN [ARGT | 1948 F IS §9 RN H w4 AW K
j o
v ? 3+3=1

Name the founder President of the Congress Socialist Party. What name was given to
this Party after 1948 ?
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7.  ORGH BE W AW TE F 9%, T H Ugel a7 BT H T T g ? 1

After which General Election in India did Congress Party lose its dominance for the
first time at the Centre ?

8. el WEIgY WiEl & e % uvam, S IRl % 5 &t A & a9, Fo G996 o o
JmaA FwE g a2 1,1-

2

After the death of Lal Bahadur Shastri, which two leaders of the Congress Party
contested against one another to become leader of the Congress Parliamentary Party ?

9. TH W HARIeH % AW fefEy e o @ g ot o o w1 o ot 3 el At
=t =t 7@ e s ey | 1

Name the popular movement which demanded that no forest exploiting contract
should be given to any outsider.

10. 9Ra ¥ 5T ad |, F5 F 16T B GIHR B T TR §30 2 1
From which year did the era of Coalition Governments at the Centre begin in India ?

11. ia g5 % fore swer 3t wemifeal % = fafay | fava we yaa =9 a0 2 1+1=2

Name the two superpowers responsible for Cold War. When did the world become
" unipolar ?

12. ¥ 4vdr | w7 A § 2
What is meant by ‘Shock Therapy’ ?

13. T9aH (ASEAN) &H19 19 % T9HT e i 715 7 THH &7 3299 51 91 ? 1+1=2
When was the ASEAN Regional Forum established ? What was its main objective ?

14. ‘GO S WRITT STTUROT H WL HiQ | 2
Explain the traditional concept of ‘Security’.

15. TgF U S RIS WS it Aavashar #41 gidt € 2 2
Why are International Organizations like the U.N. required ?

16. T wr 3 et % e o wRdte @ F wnfier @ o oy fear a0 dx3=2
Which four Princely States of India initially resisted to join the Indian Union ?
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17. T ¥ dise S99 § 2 9RA 3 S99 HiSe S 2 1+1=2

Which are the two models of development ? Which model of development was
adopted by India ?

18. A #t e Fuem #i Afa w2 2
What is India’s Policy of Non-alignment ?

19. WER W ae i fem dEsmet @ s Ta F @ o ow s

HifeT | 2x1=2
Mention any two issues of concern related to development projects such as Sardar
Sarovar Project.

20. HEe HHTH FI B oY FAwE H AR HAC | 2x1=2

Highlight any two recommendations of the Mandal Commission.

21. Wifega 99 % faged ¥ #iE S FR0 W FiAC | 2x2=4
Explain any two reasons for the disintegration of the U.S.S.R.

22. sRiEiE wite @R g ¥ wieed &g, WRG ¥ d@faue § R o G eR o & Al
R fagml =i gees Fi | 4x1=4

List any four ‘Directive Principles of State Policy’ given in the Constitution of India
for the promotion of international peace and security.

23. e e % TR H A o el & STaRl 1 av it | 2x2=4

Describe any two constraints on American Hegemony.

24. HRA AR aiEEE & o9 faar & 3t w9 S St o SR 1971 % 3

g3 | 2x2=4
Describe any two major issues of conflict between India and Pakistan leading to the
War of 1971.

25. O B @ & fh A) 2 Sl Hi GEEH a9 S Hig | 4x1=4

Identify and explain any four new sources of threat to security.

26. AvdETor ¥ fFEl =R aitomm St s i | 4x1=4

Explain any four consequences of globalization.
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27. %ﬁﬁ\qmg#ﬁiﬁ,mﬁa%m%%wwﬁﬁmﬁﬁwl 4x1=4

Explain any four reasons for the dominance of the Congress Party in the first three
General Elections.

28. ‘Ffer YO T W W T W S A g 7 T el A Tt 0 avE
e | 1+3=4

Where and when was the organization ‘Dalit Panthers’ formed ? Describe any three of
its activities.

29. ‘ITUTERT aﬁrmﬁu&ﬁr&%maﬁﬁwﬁmwwmaﬁmm%?m
HfT | 4

Why is the ‘Emergency’ and the period around it known as the period of Constitutional
crisis ? Explain.

30. MWW%WWWﬁWW%WWMﬂA,B,CWDm
hﬁaaﬁmw%lﬁaﬂéammﬁ%wwmwmmaﬁmm
F w73 et T, Tt w9 9E UF IR wied fRfey -
() Waﬁrm%aﬂmqﬂﬂnﬁawwwwh|
(if) e 3t Srevete & free fm g W9 W TF [ 95 39 |
(i) TR WY F D T I 1+1+2=4
EUROPEAN UNION MAP

59111 5 [P.T.O.



In the given Political Outline Map of Europe, four member countries of the European
Union have been marked A, B, C and D. Identify them with the help of information
given below and write their correct names in your answer-book along with their
respective serial number and the alphabet concerned :

(i)  An older member of the European Union located between Portugal and France.
(1) An older member of the European Union located near Belgium and Netherlands.

(iii) Two new members of the European Union.
EUROPEAN UNION MAP

e Prefale g Faw gfed wanfirat 3 fire wvw i 30 =T O
30.1 i W F e ey ad F gf o o0

302 gUdE WY i G g5 H A e |

303 T 99 ¥ e o O we At & A fefae |

304 U §Y F o T wew 390 & AW fefaw 4x1=4
Note : The following questions are for Blind Candidates only, in lieu of Question
Number 30.

30.1 In which year was the European Union established ?

30.2  Name the common currency of the European Union.

30.3  Write the names of any two older member countries of the European Union.
304  Name any two new member countries of the European Union.
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31, Frefiad SEeR $ SEgEE T Sk 35 H1Y e vt & s i

ST TS W TER W e, I WY A S $1 R A ga
ST B ¥ | ST ST 3 Tv W AR FoR AT — o0 F IwAR H A A TR A
T S g O, 3 & BT SHeIe X T o 3 S o # et e o | § el
P TER F P T T TS F G HEA F TR T el g | A &
i TR 3 86 AR % T FEE T |

oA

() e ST 39 W T % o R W W € 2

(ii) i S Y T S 2

(iii) 3w T To1 @ AR B AG AT E L ?

(iv) S e B G T H AT WA AT FARC?  2+2+1+1=6
et

P SO F AFES ST 3R 3T e faa vt % s i

JRE §, FURE ¥ dgeT § FEEiE T W SHiE U6 e §§9 (BSP) R
fora T | T WIS 1 VAT o i age (i S, srgee s, o e w
it ufis sodEs) 30 F AR ¥ vl afuw 4 R den F AR W w9
it e 4 |

e

() HERE I P TGS I ?

(i) == (BSP) = frmmwr T 2

(iii) T 2 srediEEE TRl % AW fAfET |

(iv) TEoF B T TR oI W T A S E 2 2+41+2+1=6

Study the passage given below carefully and answer the questions that follow :

The best way to respond to regional aspirations is through democratic
negotiations rather than through suppression. Look at the situation in the eighties -
militancy had erupted in Punjab; problems were persisting in the North-East; students
in Assam were agitating; Kashmir Valley was on the boil. Instead of treating these as
simple law and order problems, the Government of India reached negotiated settlement
with regional movements.

Questions :

(i) How are regional aspirations dangerous for the unity of the country ?
(ii) What is meant by democratic negotiations ?

(iii) Who was leading the agitation in Assam ?

(iv) What steps were taken by the Government of India to respond to the regional
aspirations ?

OR
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32.

33.

34.

a5

Study the passage given below and answer the questions that follow :

In fact, the BSP under Kanshi Ram’s leadership was envisaged as an
organization based on pragmatic politics It derived confidence from the fact that the
Bahujans (SCs, STs, OBCs and religious minorities) constituted the majority of the
population and were a formidable political force on the strength of their numbers.
Questions :

(i)  Which organization was formed by Kanshi Ram ?

(i) Give the full form of BSP.

(iii) Name any two religious minorities.

(iv) Why are the Bahujans considered a formidable political force ?

“TATERYT % Hi T B A W eI et § ¢ IugE T 31 5, 7 e
=1 faversor Hitaw |

YT
TGTERT W qE W R % 9% i faveryor S |
‘States have common but differentiated responsibilities towards environment.’
Analyse the statement giving suitable examples.

OR
Analyse India’s stand on environmental issues.

1947 #, fafewr $fear & fovrom & Tt i ftommit &t = #ife | Ix2=

A
WRAE WY % T4 % IS B UBRAT 3R 3% AR $I SnEt St |
Explain any three consequences of partition of British India in 1947.
OR
Explain the process and basis of the reorganisation of States of Indian Union.

11975 | SR F NN FET AE 9 2 R A S9gE a9 g S I

Y BT | 3x2 =

1975 & FFIT T AT 9 | Bl dF T1el @1 sarer #ire | Ix2=

‘Was the declaration of emergency in 1975 necessary ?° Support your answer with any
three suitable arguments.
OR

Explain any three lessons learnt from the emergency imposed in 1975.

Wifeae yomett 4T ot 2 Wifaae wonett i fFE aR e w1 swe S | 2+4=

Hqar
¥ g% % v, 2 e Siieter ot wriiTeRaT S o S |
What was the Soviet System ? Assess any four features of the Soviet System.
OR
Examine the relevance of the Non-aligned Movenent after the Cold War era.
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